Apartment in Tarxien



Reference No: 240011147-147

Tarxien, South



€224,000

Total Rooms: 4

Bathrooms: 1

Floor Area (m²): 93

Bedrooms: 2

Apartment - For Sale - Tarxien

Tarxien - A spacious apartment, currently being sold on plan, located in a desirable area of the village. The layout includes an open-plan kitchen, living, and dining area, along with a bathroom and two generously sized bedrooms. One of the bedrooms has direct access to a large backyard, perfect for entertaining. The apartment will be sold finished, excluding doors and bathrooms. This Freehold property offers an excellent opportunity. For more details, please contact our agent.

Features

Rooms

Kitchen/Living/Dining: 9.44 x 3.11 m (29.36 m2)

Double Bedroom : 3 x 3.69 m (11.07 m2)

Double Bedroom : 3.5 x 4.97 m (17.39 m2)

✓ Bathroom : 3.5 x 1.5 m (5.25 m2)

✓ Hallway : 1.5 x 10.5 m (15.75 m2)

Open Space : 4.97 x 3.5 m (17.39 m2)

Open Space : 1 x 2.2 m (2.2 m2)

Gallery





Adrian Camilleri RE/MAX Premium - St Julian's

M: 99865817

E: adrianc@remax.com.mt

T: 25780000

RE/MAX Premium - St Julian's

72/73, Gorg Borg Olivier Street, St Julian's, Malta